
COMPOSITE  FUNCTIONS AND GEARS 

Suppose we have three gears A , B and C with circumference X , Y , Z. respectively 
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Let red gear  has circumference is X cm, and that of black one is of Y cm. 

And third one has circumference Z cm. 

One gap of Y is of  thickness ∆𝑌 and similarly one tooth of X is of thickness ∆X, 

although these gap and tooth are of approximately of same thickness but number 

of division of ∆Y and ∆X on their respective circumference may be different, 

usually different,  

Hence we have 
Δ𝑦Δ𝑥 , similarly between Y  and Z 
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Suppose  g is a function 𝑔: 𝑋 → 𝑌 and 𝑓 is a function 𝑓: 𝑌 → 𝑍 

 So we see that functions of gears obey rules of composite functions  
𝑑𝑧𝑑𝑥= 

𝑑𝑦𝑑𝑥 𝑑𝑧𝑑𝑦 and 

hence chain goes on . which is mathematically 𝑓𝑜𝑔(𝑥). 
 


